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QUESTION 1

You use parallel processing to execute the dunning proposal. A variant for object VKONT is used with interval size 1000
and the number of intervals as 1000.

Which of the following is a result of the batch scheduling process?
A. Each interval will generate 1000 dunning activities.

B. Only one interval has less than 1000 accounts.

C. All intervals will finish processing at the same time.

D. All intervals will start processing at the same time.

Correct Answer: B

QUESTION 2

Which field value would enable you to determine if a device is a meter or a transformer?
A. The basic device category on the device

B. The type of device on the device category of the device

C. The device category on the device

D. The function class on the device category of the device

Correct Answer: A

QUESTION 3

Devices of a particular device category are due for certification.
What is the correct process to replace the sample devices?

A. 1. Determine sample devices using the lot procedure

2.

Automatically create work orders for removal

3.

Schedule and execute work orders

4,

Manually perform device replacement in the system
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5.

Perform completion confirmation

B. 1. Create work order for device replacement in the system
2.

Automatically determine sample devices in the system
3.

Schedule and execute work orders

4,

Automatically perform device replacement in the system
5.

Perform completion confirmation

C. 1. Create work order for device replacement in the system
2.

Determine sample devices using the lot procedure

3.

Schedule and execute work orders

4,

Perform completion confirmation

5.

Automatically perform device replacement in the system
D. 1. Determine sample devices using the lot procedure
2.

Automatically create work orders for removal

3.

Schedule and execute work orders

4,

Process completion confirmation

5.

Automatically perform device replacement in the system
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Correct Answer: D

QUESTION 4

A nonresidential tariff specifies that the delivery charge is calculated based on an hourly price.
Which master data object should be used to store the hourly prices?

A. Elementary profile

B. Synthetic profile

C. Fact group

D. Price key

Correct Answer: A

QUESTION 5

You create a business partner in the role of contract partner and attempt to create a Sales and Distribution document for
requested goods. However, the system outputs an error message stating that the customer does not exist.

Which IS-U Customizing setting has most likely not been made?
A. Contract customer

B. Standard customer

C. Prospective customer

D. Reference customer

Correct Answer: D
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